L ————»

12 |-
/D) g Y — ‘
- ¢Ds HOTO——F —— (3
\ / 1 ‘
N Al |
b e s
L | S
0O 4 Fijg 3 =
l:lEnD:I%:ll\l:g;}? @d | oD L2 L ODs | Oda | Bt T Alrf‘plicfble)goal\s
SP5650.0416 40 | 16 | 10 | 75 | 15 | 60
SP5650.0417 40 | 17 [ 10 [ 75 | 15 | 60
SP5650.041905 40 |1905] 10 | 75 | 18 | 6.0 | M4*6
SP5650.0420 40 | 20 [ 10 | 75 | 18 | 60
SP5650.0420-L100| 4.0 | 20 | 10 | 100 | 18 | 6.0 XX.20 XXX
SP5650.0422 40 | 22 | 10 | 75 | 20 | 60 LT2 XX.30.XXX
XX.40.XXX
SP5650.0423 40 | 23 | 10 | 75 | 21 | 60 | M4*8
SP5650.0423-L100| 40 | 23 | 12 | 100 | 21 | 6.0
SP5650.0425 40 | 25 | 12 | 75 | 22 | 60
M4 *10
SP5650.04254 40 | 254 | 12 | 75 | 22 | 60
SP5650.0616 60 | 16 | 10 | 75 | 15 | 80
SP5650.0617 60 | 17 | 10 | 75 | 15 | 80
SP5650.061905 60 [1905| 10 | 75 | 18 | 80 | M5%5
SP5650.0620 60 | 20 | 10 | 75 | 18 | 80
SP5650.0620-L100| 6.0 | 20 | 10 | 100 | 18 | 80 uidl XX.50.XXX
SP5650.0622 60 | 22 | 10 | 75 | 20 | 80 XX.60.XXX
SP5650.0623 60 | 23 | 10 | 75 | 21 | 80
SP5650.0623-L100| 6.0 | 23 | 15 | 100 | 21 | 80 | M5*8
SP5650.0625 60 | 25 | 15 | 75 | 22 | 80
SP5650.06254 60 | 254 | 15 | 75 | 22 | 80
SP5650.0816 80 | 16 | 10 | 75 | 15 | 10.0
M4 *4 | LT-2
SP5650.0817 80 | 17 | 10 | 75 | 15 | 100
SP5650.081905 80 [190s] 10 [ 75 | 18 [1w00]
SP5650.0820 80 | 20 | 10 | 75 | 18 | 10.0 X T0500K
SP5650.0822 80 | 22 | 10 | 75 | 20 | 100 X 80 XXX
SP5650.0823 80 | 23 | 10 | 75 | 21 | 100 | M5%6 | LT-2.5
SP5650.0823-L100| 8.0 | 23 | 15 | 100 | 21 | 10.0
SP5650.0825 80 [ 25 [ 15 Jwoo | 22 [0
SP5650.08254 80 | 254 | 15 | 100 | 22 | 10.0
SP5650.101905 | 10.0 [ 19.05| 15 | 70 | 18 | 120 | M4*4 | LT2
SP5650.1020 100] 20 | 15 | 70 | 18 | 120
M5 *5 | LT-2.5
SP5650.1022 100] 22 [ 15 | 70 | 20 | 120
SP5650.1023 100] 23 | 15 | 70 | 21 | 120 XX.100.XXX
SP5650.1023-L100| 10.0 | 23 | 15 | 100 | 21 | 12.0
M6 *6 | LI-3
SP5650.1025 100 | 25 | 15 | 70 | 22 | 120
SP5650.10254 100 | 254 | 15 | 70 | 22 | 12.0

89



